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1. Answer the following questions : 1x10=10

(a) What is cardinal utility?

(b) What is the marginal rate of substitution
between two perfectly substitute goods?

^ «jsf ^
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{c) Define income effect.

(d) What is meant by a person be 'risk
averse?

(e) Why is the average fixed cost curve
rectangular hyperbola?

(f) When is the long-run average cost curve

L-shaped?

(g) What is production function?

(h) Define expansion path.

7{^£m«r w ^ I

(i) State the concept of shutdown point of a
firm.

(j) Define opportunity cost.

%t I
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2. Write short answers of the following
questions : 2x5=10

(a) What is meant by slope of a budget line?

w\ "TO ^ ?

(b) Distinguish between gross demand and
net demand.

^  ̂ I

(c) What are short-run and long-run costs of
production?

"511^ 1% ?

(d) Establish the relationship between total
utility and marginal utility.

^  ̂ "sn^
I

(e) State the concept of optimum firm.

3. Answer any four of the following questions :
5x4=20

^ 2mm telCTT ^ :

(a) What is inferior good? How is it different
from normal goods? Show it with the help
of indifference curves.

'Wo I
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2. Write short answers of the following
questions : 2x5=10

£nac<lH'^ :

(a) What is meant by slope of a budget line?

C^'fT W\ "TO fSil "^ ?

(b) Distinguish between gross demand and
net demand.

^  I

(c) What are short-run and long-run costs of
production?

w "snw 1% ?

(d) Establish the relationship between total
utility and marginal utility.

(e) State the concept of optimum firm.

TO ^ I

3. Answer any four of the following questions :
5x4=20

:

(a) What is inferior good? How is it different
from normal goods? Show it with the help
of indifference curves.

1
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(b) Discuss how Slutsl^ equation explains
the relationship between change in price
of a good and demand for it.

■sj]^ ■^TNTT ^sfJMW W I

(c) Suppose the purchase of a lottery ticket
is under consideration of an individual.
Let the prize be f 5,000 which he will get
if he wins and suppose if he losses, he
will get the consolation prize of f 10.
Further suppose that the probability of
his winning is 0*6. Find expected money
value of lotteiy ticket.

Rhh <J[C<1

5,000 ^ ^ ̂
10 Wi m I 'siK#! ^

0-6. Wc'GH

(d) Define substitute and complementary
factors. Draw isoquants of perfect
substitutes and perfect complements in
production. Give examples.
Rw ^ tw I Yf Rw

«jcf ^ I
I
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(e) "If there is free entry of new firms in the
competitive industry, price must fall to
the level of minimum long-run average
cost." Explain.

R'^ ^ i" ^ I
(f) Give the various concepts of production

costs in brief.

RRjt Rp^t I

4. Answer the following questions :
R?n:

10x4=40

(a) "Revealed preference theory makes a
major advancement in the theory of
demand." Discuss. 10

"OT*u "sisnR^ RR^
i" ^ I

Or /

Explain how indifference curve can be
derived using revealed preference theory.

R^^
^ W(II w I

(b) How are average cost curve and marginal
cost curve derived from total cost curve?

5+5=10

^ m 'RT ^ £n1%^
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(e) "If there is free entry of new firms in the
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the level of minimum long-run average
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^ ̂  £fOT
^  ̂ m

(f) Give the various concepts of production
costs in brief.
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"£m*u "sisnRro
t" w I
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cw

^  ̂ I
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Or /

What is meant by optimum factor
combination in production? Explain with
the help of isoquant and isocost lines.

2+8=10

"'WR I

{c) Explain the impact of change in rate of
interest on the consumers. Use

diagrams. 10

^TTfiT

^ I ̂  <pR<ll 1

Or / wr

Fill in the blanks in the following table :

3+3+3+1=10

Number of
variable inputs

Total

output
Marginal

product
Average

product

3 — 18 30

4 — 20 .

5 130

6 — 5 _

7 —
—

•V

( 7 )

Does the production function stated in
the table exhibit diminishing returns? If

so, at what number of units of the
variable input do diminishing marginal'
returns begin?

^ xsiRmW IFI5PRH

(d) Critically discuss the law of variable
proportion. 10

Or / mm

What are isoquants? Show the
increasing, constant and decreasing
return to scale through isoquants.

1+3+3+3=10

cm 1% ?

£ff«?R Cffsm I

★ ★ ★
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(c) Explain the impact of change in rate of
interest on the consumers. Use
diagrams. 10

w I I

Or / WW
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Does the production function stated in
the table exhibit diminishing returns? If
so, at what number of units of the
variable input do diminishing marginal
returns begin?

af^Kpfe ^ c*^iicui
mi IIPWRH 20^

(d) Critically discuss the law of variable
proportion. 10

RR^

Or / WW
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22A—4000/39 3 {Sem-3/CBCS) EGO HO 1




